THIAGARAJAR COLLEGE OF ENGINEERING, MADURAI-625 015

(A Govt.Aided Autonomous Institution Affiliated to Anna University) PROVISIONAL RESULTS & TABULATED STATEMENT WITH MARKS AND GRADE Regular-NOVEMBER-2021 Phase:-3

Programme Name:- Ph.D.-Electrical and Electronics Engineering-2021

Meeting Date:- 20-07-2022

Slno	Regno	StudentName	CCode	TE	СА Т	гт	G CCode	TEC	а т	ТG	CCode	TE	CA	ΤT	G	CCode	TE	CA	TT	G	тот	TGPA	GPA
1	21RSK001391	UHAMMED ALAUDEEN ASHIQ I	1 8PS130	47	46 9	93 \$	S 18PSPB	47 4	69	3 S											60	6	10.00

AA-ABSENT, U-FAIL, WD-WITHDRAWN, WH-WITHHELD, AN-ANNULED S:- 90 TO 100,A:- 80 TO 89,B:- 70 TO 79,C:- 60 TO 69,D:- 50 TO 59,U:- 0 TO 49 S:10,A:9,B:8,C:7,D:6,U:0,AA:0,WDN:0,AA:0,WH:0

Credit	Course Code	Course Name	Min Pass	Credit	Course Code	Course Name	Min Pass
3	18PS130	DESIGN OF RENEWABLE ENERGY SYSTEMS	25	3	18PSPB0	SMART POWER GRID	25

THIAGARAJAR COLLEGE OF ENGINEERING, MADURAI-625 015

(A Govt.Aided Autonomous Institution Affiliated to Anna University) PROVISIONAL RESULTS & TABULATED STATEMENT WITH MARKS AND GRADE Regular-NOVEMBER-2021 Phase:-3

Programme Name:- Ph.D.-Civil Engineering-2021

Meeting Date:- 20-07-2022

Slno	Regno	StudentName	CCode	ΤE	CA	ТΤ	G	CCode	TE	CA	тт	G	CCode	ΤE	CA	ΤT	G	CCode	TE	CA	ТΤ	G	тот	TGPA	GPA
1	21RSJ004	REVATHI S	18SEPA0	34	42	76	В	18SEPG0	41		86	А											51	6	8.50

AA-ABSENT, U-FAIL, WD-WITHDRAWN, WH-WITHHELD, AN-ANNULED S:- 90 TO 100,A:- 80 TO 89,B:- 70 TO 79,C:- 60 TO 69,D:- 50 TO 59,U:- 0 TO 49 S:10,A:9,B:8,C:7,D:6,U:0,AA:0,WDN:0,AN:0,LA:0,WH:0

Credit	Course Code	Course Name	Min Pass	Credit	Course Code	Course Name	Min Pass
3	18SEPA0	ANALYSIS AND DESIGN OF CONCRETE STRUCTURES	25	3	18SEPG0	CREEP AND FATIGUE BEHAVIOUR OF MATERIALS	25

THIAGARAJAR COLLEGE OF ENGINEERING, MADURAI-625 015

(A Govt.Aided Autonomous Institution Affiliated to Anna University) PROVISIONAL RESULTS & TABULATED STATEMENT WITH MARKS AND GRADE Regular-NOVEMBER-2021 Phase:-3

Programme Name:- Ph.D.-Computer Science and Engineering-2021

Meeting Date:- 20-07-2022

Slno	Regno	StudentName	CCode	TE	САТ	ГG	CCode	ΤE	CA	TT	G	CCode	ΤE	CA	ΤT	G	CCode	ΤE	CA	ΤТ	G	тот	TGPA	GPA
1 2	1RSCSE001	HARINE RAJASHREE R	18CN110	49	47 9	6 S	18CN131	42	48	90	S											60	6	10.00
2 2	1RSCSE003	RAJKUMAR K	18CGPFC	33	48 8	1 A	18CN131	33	45	78	В											51	6	8.50

AA-ABSENT, U-FAIL, WD-WITHDRAWN, WH-WITHHELD, AN-ANNULED S:- 90 TO 100,A:- 80 TO 89,B:- 70 TO 79,C:- 60 TO 69,D:- 50 TO 59,U:- 0 TO 49 S:10,A:9,B:8,C:7,D:6,U:0,AA:0,WDN:0,AN:0,LA:0,WH:0

Credit	Course Code	Course Name	Min Pass	Credit	Course Code	Course Name	Min Pass
3	18CGPF0	DESIGN AND ANALYSIS OF PARALLEL ALGORITHMS	25	3	18CN110	LINEAR ALGEBRA AND OPTIMIZATION	25
3	18CN131	WIRELESS CELLULAR NETWORKS	25				

THIAGARAJAR COLLEGE OF ENGINEERING, MADURAI-625 015

(A Govt.Aided Autonomous Institution Affiliated to Anna University) PROVISIONAL RESULTS & TABULATED STATEMENT WITH MARKS AND GRADE Regular-NOVEMBER-2021 Phase:-3

Programme Name:- Ph.D.-ARCHITECTURE-2021

Meeting Date:- 20-07-2022

Slno	Regno	StudentName	CCode	ΤE	CA	ТΤ	G	CCode	ΤE	CA	тт	G	CCode	ΤE	CA	ΤT	G	CCode	TE	CA	TT	G	тот	TGPA	GPA
1 2	1RSARA00	1 C.PIRAIARASI	18GA130	37	44	81	А	18IM140	47	48	95	s	18IM160	37		83	А						84	9	9.33

AA-ABSENT, U-FAIL, WD-WITHDRAWN, WH-WITHHELD, AN-ANNULED S:- 90 TO 100,A:- 80 TO 89,B:- 70 TO 79,C:- 60 TO 69,D:- 50 TO 59,U:- 0 TO 49 S:10,A:9,B:8,C:7,D:6,U:0,AA:0,WDN:0,AN:0,LA:0,WH:0

Credit	Course Code	Course Name	Min Pass	Credit	Course Code	Course Name	Min Pass
3	18GA130	CLIMATE CHANGE ADAPTATION AND RESILIENCE	25	3	18IM140	QUANTITATIVE METHODS IN MANAGEMENT	25
3	18IM160	PROJECT FORMULATION AND IMPLEMENTATION	25				